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Writing oLLs

e Number of tasks: 2
e Test time: 60 minutes
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IELTS

Task achievement

« fully satisfies all the requirements of the task
+ clearly presents a fully developed response

Coherence and cohesion

+ uses cohesion in such a way that it attracts no attention
+ skilfully manages paragraphing

WRITING TASK 1: Band Descriptors (public version)

Lexical resource

uses a wide range of vocabulary with very natural and
sophisticated control of lexical features; rare minor errors
occur only as ‘slips

Grammatical range and accuracy

+ uses a wide range of structures with full fiexibility and
accuracy; rare minor errors occur only as 'slips’

+ covers all requirements of the task sufficiently
« presents, highlights and illustrates key features/ bullet
points clearly and appropnrately

* sequences information and ideas logically
* manages all aspects of cohesion well
» uses paragraphing sufficiently and appropriately

uses a wide range of vocabulary fluently and fiexibly to
convey precise meanings

skilfully uses uncommon lexical items but there may be
occasional inaccuracies in word choice and collocation
produces rare errors in spelling and/or word formation

» uses a wide range of structures
« the majority of sentences are error-free
* makes only very occasional errors or inappropriacies

« covers the requirements of the task

+ (A) presents a clear overview of main trends, differences or
stages

+(GT) presents a clear purpose, with the tone consistent and
appropriate

« clearly presents and highlights key features/bullet points
but could be more fully extended

+ logically organises information and ideas; there is clear

progression throughout
+ uses a range of cohesive devices appropnately although
there may be some under-/over-use

uses a sufficient range of vocabulary to allow some
flexibility and precision

uses less common lexical items with some awareness of
style and collocation

may produce occasional errors in word choice, spelling
and/or word formation

+ uses a variety of complex structures

« produces frequent error-free sentences

+ has good control of grammar and punctuation but may
make a few errors

+ addresses the requirements of the task

« (A) presents an overview with information appropriately
selected

+ (GT) presents a purpose that is generally clear; there may
be inconsistencies in tone

« presents and adequately highlights key features/ bullet
points but details may be irrelevant, inappropriate or
inaccurate

+ arranges information and ideas coherently and there is a
clear overall progression

+ uses cohesive devices effectively, but cohesion within
and/or between sentences may be faulty or mechanical

* may not always use referencing clearly or appropriately

uses an adequate range of vocabulary for the task
attempts to use less common vocabulary but with some
inaccuracy

makes some errors in spelling and/or word formation, but
they do not impede communication

» uses a mix of simple and complex sentence forms
* makes some errors in grammar and punctuation but they
rarely reduce communication

+ generally addresses the task; the format may be
inappropriate in places

* (A) recounts detail mechanically with no clear overview;
there may be no data to support the description

+(GT)may present a purpose for the letter that is unclear at
times; the tone may be variable and sometimes
inappropriate

« presents, but inadequately covers, key features/ bullet
points; there may be a tendency to focus on details

* presents information with some organisation but there may
be a lack of overall progression

* makes inadequate, inaccurate or over-use of cohesive
devices

* may be repetitive because of lack of referencing and
substitution

uses a limited range of vocabulary, but this is minimally
adequate for the task

may make noticeable errors in spelling and/or word
formation that may cause some difficulty for the reader

+ uses only a limited range of structures

« attempts complex sentences but these tend to be less
accurate than simple sentences

* may make frequent grammatical errors and punctuation
may be faulty; errors can cause some difficulty for the
reader

+ attempts to address the task but does not cover all key
features/bullet points; the format may be inappropriate

+ (GT) fails to clearly explain the purpose of the letter; the
tone may be inappropriate

» may confuse key features/bullet points with detail; parts
may be unclear, irrelevant, repetitive or inaccurate

* presents information and ideas but these are not arranged
coherently and there is no clear progression in the
response

+ uses some basic cohesive devices but these may be
inaccurate or repetitive

uses only basic vocabulary which may be used repetitively
or which may be inappropriate for the task

has limited control of word formation and/or spelling
errors may cause strain for the reader

* uses only a very limited range of structures with only rare
use of subordinate clauses

* some structures are accurate but errors predominate, and
punctuation is often faulty

fails to address the task, which may have been completely
misunderstood

presents limited ideas which may be largely
irrelevant/repetitive

does not organise ideas logically

may use a very limited range of cohesive devices, and
those used may not indicate a logical relationship between
ideas

uses only a very limited range of words and expressions
with very limited control of word formation and/or spelling
errors may severely distort the message

+ attempts sentence forms but errors in grammar and
punctuation predominate and distort the meaning

answer is barely related to the task

has very little control of organisational features

uses an extremely limited range of vocabulary; essentially
no control of word formation and/or spelling

« cannot use sentence forms except in memorised phrases

answer is completely unrelated to the task

fails to communicate any message

can only use a few isolated words

+ cannot use sentence forms at all

does not attend
does not attempt the task in any way
writes a totally memorised response

(A) Academic | (GT) General Training

IELTS is jointly owned by the British Council, IDP: IELTS Australia and Cambridge English Language Assessment.
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IELTS

Task response
fully addresses all parts of the task
presents a fully developed position in answer to the

question with relevant, fully extended and well supported
ideas

Coherence and cohesion

uses cohesion in such a way that it attracts no attention
skilfully manages paragraphing

WRITING TASK 2: Band Descriptors (public version)

Lexical resource

uses a wide range of vocabulary with very natural and
sophisticated control of lexical features; rare minor errors
occur only as ‘slips’

Grammatical range and accuracy

uses a wide range of structures with full flexibility and
accuracy; rare minor errors occur only as ‘slips’

sufficiently addresses all parts of the task
presents a well-developed response to the question with
relevant, extended and supported ideas

sequences information and ideas logically
manages all aspects of conesion well
uses paragraphing sufficiently and appropriately

uses a wide range of vocabulary fluently and flexibly to
convey precise meanings

skilfully uses uncommon lexical items but there may be
occasional inaccuracies in word choice and collocation
produces rare errors in spelling and/or word formation

uses a wide range of structures
the majority of sentences are error-free
makes only very occasional errors or inappropriacies

addresses all parts of the task

presents a clear position throughout the response
presents, extends and supports main ideas, but there may
be a tendency to over-generalise and/or supporting ideas
may lack focus

logically organises information and ideas; there is clear
progression throughout

uses a range of cohesive devices appropriately although
there may be some under-/over-use

presents a clear central topic within each paragraph

uses a sufficient range of vocabulary to allow some
flexibility and precision

uses less common lexical items with some awareness of
style and collocation

may produce occasional errors in word choice, spelling
and/or word formation

uses a variety of complex structures

produces frequent error-free sentences

has good control of grammar and punctuation but may
make a few errors

addresses all parts of the task although some parts may be
more fully covered than others

presents a relevant position although the conclusions may
become unclear or repetitive

presents relevant main ideas but some may be
inadequately developed/unclear

arranges information and ideas coherently and there is a
clear overall progression

uses cohesive devices effectively, but cohesion within
and/or between sentences may be faulty or mechanical
may not always use referencing clearly or appropniately
uses paragraphing, but not always logically

uses an adequate range of vocabulary for the task
attempts to use less common vocabulary but with some
inaccuracy

makes some errors in spelling and/or word formation, but
they do not impede communication

uses a mix of simple and complex sentence forms
makes some errors in grammar and punctuation but they
rarely reduce communication

addresses the task only partially; the format may be
inappropriate in places

expresses a position but the development is not always
clear and there may be no conclusions drawn

presents some main ideas but these are limited and not
sufficiently developed; there may be irrelevant detail

presents information with some organisation but there may
be a lack of overall progression

makes inadequate, inaccurate or over-use of cohesive
devices

may be repetitive because of lack of referencing and
substitution

may not write in paragraphs, or paragraphing may be
inadequate

uses a limited range of vocabulary, but this is minimally
adequate for the task

may make noticeable errors in spelling and/or word
formation that may cause some difficulty for the reader

uses only a limited range of structures

attempts complex sentences but these tend to be less
accurate than simple sentences

may make frequent grammatical errors and punctuation
may be faulty; errors can cause some difficulty for the
reader

responds to the task only in a minimal way or the answer is
tangential; the format may be inappropriate

presents a position but this is unclear

presents some main ideas but these are difficult to identify
and may be repetitive, irrelevant or not well supported

presents information and ideas but these are not arranged
coherently and there is no clear progression inthe
response

uses some basic cohesive devices but these may be
inaccurate or repeitive

may not write in paragraphs or their use may be confusing

uses only basic vocabulary which may be used repetitively
orwhich may be inappropriate for the task

has limited control of word formation and/or spelling; errors
may cause strain for the reader

uses only a very limited range of structures with only rare
use of subordinate clauses

some structures are accurate but errors predominate, and
punctuation is often faulty

does not adequately address any part of the task
does not express a clear position

presents few ideas, which are largely undeveloped or
irrelevant

does not organise ideas logically

may use a very limited range of cohesive devices, and
those used may not indicate a logical relationship between
ideas

uses only a very limited range of words and expressions
with very limited control of word formation and/or spelling
errors may severely distort the message

attempts sentence forms but errors in grammar and
punctuation predominate and distort the meaning

barely responds to the task

does not express a position

may attempt to present one or two ideas but there is no
development

has very little control of organisational features

uses an extremely limited range of vocabulary; essentially
no control of word formation and/or spelling

cannot use sentence forms except in memorised phrases

answer is completely unrelated to the task

fails to communicate any message

can only use a few isolated words

cannot use sentence forms at all

does not attend )
does not attempt the task in any way
writes a totally memorised response
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 Significantly, Drastically, Dramatically

* Gradually, Constantly, Slightly, Slowly
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Writing Task 1

You should spend 20 minutes on this task.

The graph below shows information about the use of public transport in one country, by age group and
location of residence, in 2016.

Summarise the information by selecting and reporting the main features, and make comparisons where
relevant.

Write at least 150 words.

Public transport use by age and place of
residence, 2016

100
90 —&— Large city residents |-
80 —@— Other residents [
70

& P 8
5 N
Pl \\

Percentage (%) of age group

20 /-\ \
— \'\I/%
10
O 1 1 1 | 1 1
0-15 16-30 3145 46-60 61-75 76+
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The line chart compares the citizens of one particular country in both
metropolitan areas and small towns, in terms of their utilization of public
transportation within six age brackets.

Looking at the illustration, it is apparent that using public transport in this
country is much more common between mega city residents, in particular
among the adults, while those who live in smaller areas, regardless of their ages,
are not willing to choose this option.

The gap between the two is particularly noticeable for younger and middle-age
groups, with the highest difference for 31-45-year-olds: 66% of city dwellers
used public transport compared with just 15% of people living outside large
urban centers. For children, the difference was smaller but still significant, at
39% and 15% respectively.

However, when it comes to the elderlies, there are more similarities between
these two groups. 61-75 is the only age range where the tendency of those who
reside in the countryside regarding the above-mentioned issue is more than the
individuals who live in large cities (by almost 20 and 10 percent respectively).

Number of words: 178
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WRITING TASK 1

You should spend about 20 minutes on this task.

The chart below shows the changes that took place in three different areas of
crime in Newport city centre from 2003—-2012.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

The changing rates of crime in the inner city from 2003-2012

4000 e s
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The illustration gives information regarding the alteration rates of three various
types of felony which occurred in Newport inner city in a 9-year period (2003-
2012).

Clearly, while regardless of their total amount, car theft and robbery did not
undergo major changes in general, the drastic fall in the level of burglaries, led
to an overall fall in the number of incidents in this area during the given time.

In the first two years, stealing cars’ number stayed unchanged at a little below
3000, but the rate of robbery which was only 600, had a mild rise at the same
time and reached its highest number at a little under 1000. Meanwhile, burglary
reached its peak too at 3800 in 2004, followed by a significant falling trend
which continued to 2008, where the city experienced the lowest number of this
incident by a little above 1000.

Stealing from individuals followed a similar downward pattern, albeit at a lower
rate and like burglary reached its minimum in 2008 (by only 500). These two
types of crime (robbery and burglary) fluctuated to the end of the period and
remained at almost 500 and 1500 respectively, unlike vehicle stealing which
with an exception of a notable fall in 2006, started to grow again and almost
came back to its initial number in 2012 (by 2750).

Number of words: 221
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WRITING TASK 1

You should spend about 20 minutes on this task.

The chart below gives information on the percentage of
British people giving money to charity by age range for the
years 1990 and 2010.

Summarise the information by selecting and reporting the
main features and make comparisons where relevant.

Write at least 150 words.

45%

- W19%0

40% M 2010
35%
30%
25%
20%
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18-25 26-35 36-50
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The proportion of UK residents’ donation is depicted in 5 various age brackets
and in two distinct years (1990 and 2010)

Overall, it is obvious that the amount of donation has fallen in general, while the
pattern for charity makers before and after the age of 50 has altered
throughout the period. What is more, the tendency of aged British citizens so as
to give away money to charities has been higher than younger individuals.

The first three age groups are shown to have decreased in numbers during the
20-year period, with the youngest age bracket being the one with the highest
level of fall (10 percent). The middle-aged residents who used to hold the first
rank in the rate of donation, were in the second place, joining those older than
65.

However, in terms of the elderlies, the pattern has been rising, where those
who were aged 51-65 and the ones above 65 grew by almost 4 and 3 percent
respectively. This made the penultimate group the most willing British donator
in 2010. Word Count: 174 words

] ool Allgi ) Sl WL 6 digod (s S Hob ylon
- Gl 00 0015 o &y Jlguw j0 a5 (gl o> G105 5L : Introduction

Ol g dlw a0l ol Job 50 Ll g 00 po (5 4l s SoS Wiy i Judxi : Overview
o 01580 9 1 iilgar o 50 O ol e gl

Jlw Caman (] 50 (2ol 0945 duw Ol pndi ds Lo : Body 1

Jw Canan (9 50 GLL 09,5 90 Ol pudi dus Lo : Body 2



S Ao 419900 P9 (5 41903

WRITING TASK 1

You should spend about 20 minutes on this task.

The chart below shows the results of a survey about people’s coffee and tea
buying and drinking habits in five Australian cities.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

Coffee and tea buying and drinking habits in five cities in Australia

70%

65%

60%

55%

50%

45% -
40% A

35%

Percentage of city residents

30%

25% -

20% -

Sydney Melbourne Brisbane Adelaide Hobart

B Bought fresh coffee in last 4 weeks
2 Bought instant coffee in last 4 weeks
Bl Went to a café for coffee or tea in last 4 weeks
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The illustration reveals information regarding the amount of two main hot
beverages (tea and coffee) which have been purchased or consumed in five
metropolises in Australia based on a questionnaire.

Overall, it is evident that with an exception of Adelaide, all these Australian
citizens tend to consume coffee or tea in cafes.



Sydney and Melbourne residents share a fairly similar pattern in terms of their
tea and coffee drinking and buying habits. In both cities, more than 60 percent
of people tend to go to cafes in order to drink these two beverages. However,
unlike other cities, the gap between instant and fresh coffee is tiny: both types
are bought by around 40 to 50 percent, though the instant type is still the
second option.

In Brisbane and Hobart like the two previous places, their priority is to have
these drinks in cafes by 55 and 62 percent respectively. Adelaide is the only
city whose individuals are slightly more into instant coffee rather than having
their drink in outdoors by about 50 percent. That said, in all these three cities
the proportion of consuming fresh coffee is low by a little below or above 35
percent. Word Count: 196 words
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20 percent = one fifth
25 percent: a quarter
33 percent = one third
50 percent = a half
18 percent = a little below 20 percent

42 percent = a little above 40 percent
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WRITING TASK 1

You should spend about 20 minutes on this task.

The charts below show the percentage of water used for different purposes in
six areas of the world.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

Percentage of water used for different
purposes in six areas of the world

10%

19%
48%

53%

13%
NORTH AMERICA SOUTH AMERICA EUROPE

AFRICA CENTRALASIA SOUTH EAST ASIA

The pie jectives

[_—_] Industrial use m Agricultural use - Domestic use

~

withins .,



Overall, the majority of water worldwide is dedicated to farming, while in
Europe and North America, Industries consume more water than the other two
sections.

There are numerous similarities regarding the utilization of water in Africa,
Central and South East Asia. In all these places more than 80 percent of the
water is allocated to agriculture, with Central Asia having the highest
percentage by 88 percent. However, unlike Africa and Central Asia where the
domestic use is slightly higher than the industrial one, in South East Asia, the
factories tend to use far more water than the ordinary people.

Similarly, in South America the use of water for agriculture is still atop, albeit at
a lower percentage compared with the previous regions (71 percent). However,
unlike all other areas, a significant proportion of water is allocated to the
domestic use in this continent, which is almost 20 percent.

A totally different pattern compared with previous areas is observed in Europe
and North America. Almost half the water is utilized in industries and between
30 to 40 percent of that is distributed to their farms. The share of usage for
houses is around 15 in these areas. Word Count: 215
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Writing Task 1

I

| You should spend 20 minutes on this task.

The table below shows how patients evaluated different services at
. three health centres.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

| Write at least 150 words.

How patients evaluated health centre services

(1 =very poor; 10 = excellent)

Aspect of service Longston Peveril Marchbank
Centre Centre Centre
Booking appointments 5.2 9.1 7.8
Doctors’ service 8.0 8.7 8.4
Care of children 6.3 1.5 13
Pharmacy 5.1 6.3 5.8
Response to concerns 4.3 9.6 6.5
Overall average 5.8 8.3 7.2
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The illustration depicts the way hospitalized people have rated a number of
services at three medical centers.

Clearly, amongst the centers which have been surveyed, Peveril is the most
successful one. However, none of these places have gained a satisfactory result
in terms of pharmacy-related services.

It is noticeable that one aspect — Doctors’ service — received relatively strong
evaluations in all three centers, with scores ranging from 8 to 8.7. Ratings for
Care of children are moderate in all three centers, though they are significantly
lower for Longston than for the other two: 6.3, compared to 7.5 at Peveril and
7.3 at Marchbank.

Regarding the other aspects of provision, there is considerable variation.
Perhaps the most striking differential in ratings is in Response to concerns and
Booking appointments, which for Peveril is incredibly high at 9.6 and 9.1
respectively. This compares with 6.5 and 7.8 for these areas at Marchbank and
just 4.3 and 5.2 at Longston.

Word Count: 156
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WRITING TASK 1
You should spend about 20 minutes on this task.

The chart below shows what Anthropology graduates from one university
did after finishing their undergraduate degree course. The table shows the

salaries of the anthropologists in work after five years.
Summarise the information by selecting and reporting the main features, and

make comparisons where relevant.

Write at least 150 words.
Destination of Anthropology graduates (from one university)
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@Part-time work . Part-time work + postgrad study

. Full-time work
L] Not known

DFull-time postgrad study @Unemployed

Salaries of Antrhropology graduates (after 5 years’ work)

$25,000- | $50,000- | $75,000-
Type of employment 49,999 74,999 99,999 | $100,000+
Freelance consultants 5% 15% 40% 40%
Government sector 5% 15% 30% 50%
Private companies 10% 35% 25% 30%
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The illustrations give information regarding Anthropology students’ decision after
graduation from their bachelor’s degree and the amount of payment they earn after
being occupied for more than 5 years.

Overall, it is obvious that the majority of these graduates tend to get recruited, either
full-time or part-time, and most of them earn a high salary.

More than half of the Anthropology graduates are eager to acquire a full-time
position in the job market right after their graduation. This is followed by 15 percent
of students who choose to do the same thing, albeit in a part-time manner.

On the other hand, the percentage of those who would like to seek higher education
without the hassle of being a working person, is less than 10 percent. A tiny portion
of them (5 percent) has this tendency to study and work simultaneously. The number
of those who are unemployed though, is a little above 10 percent.

In terms of the salaries, those who work for the government will earn the highest
amount of income: half of them gain more than a hundred thousand dollars; while
those who work on their own as advisors, are the second group in this respect, since
80 percent of them receives more than 75,000 dollars. Unlike these two, the ones
who have opted for working in private firms, are paid less: only 30 percent of them
are paid above 100,000 dollars. Word Count: 234 words
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build — erect (used for high buildings) — put up — construct

renovate — enlarge — expand — convert — alter — develop — refurbish
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tear down — demolish — destroy — remove — eradicate
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WRITING TASK 1
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You should spend about 20 minutes on this task.

ere relevant.

The plans below show the site of an airport now and how it will look after
redevelopment next year.

Summarise the information by selecting and reporting the main features, and
make comparisons wh

Write at least 150 words.

SOUTHWEST AIRPORT

NOW

AFTER DEVELOPMENT

S g 14
4 5 4 15
3 6 3 16
2 7 2 17
1 8 1] 18] |18
5\(\0"%
SECURITY PASSPORT CONTROL SECURITY PASSPORT CONTROL
PASSPORT CONTROL | CUSTOMS PASSPORT CONTROL | CUSTOMS
-
. i e il 10 =]
DEPARTURES ARRIVALS DEPARTURES ARRIVALS
© Check-in © Check-in
Café Bag drop
[A] walkway Café
:H: Gates ATM
Sky train
@ Car hire
:: Gates
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The depictions illustrate the current design of Southwest airport and its
refurbished version which is planned to be done within the following year.

Overall, it is clear that the post-development area tends to offer more facilities
which will facilitate passengers’ accessibility and will provide them with a more
comfortable experience.

In terms of the travelers’ access, the number of entrances and exits are going to
increase by two times, bringing more ease of access to the passengers. What is
more, the number of gates which are only 8, are expected to rise to 18.
Meanwhile, a sky train has been planned to replace the current walkway which
will improve the passengers’ commute between the gates.

When it comes to the amenities, a second café will be added to the arrivals’
zone, to serve both arriving and departing passengers. By the relocation of the
café and check-in which are situated in the departures area right now, there will
be room for a bag drop to be built in the top left-hand corner. In addition to the
café, an ATM and car hire are going to be built on the right side of the arrivals.

Word Count: 193

sl ol aiigh g5 s digad ol st (50 45 33 (o

093 oud 0310 Lo 4 Jlgw yo a5 gl aox 10,550 : Introduction

eyl pilaco (gl O gt T Azt g Wl SBlgS pnds jlo a5 S 039> e 1 Overview
ol doples Jlos! oyl Blune pige (o piwd S & Flpati Wlo 3> Ly :Body 1

o doles Jlasl oyl dluee (BB ) GUKl gty Ct> a5 S panii Wl 3> Lo : Body 2



Pl 50 O gw
5 bl g (55 0L Lixod Lol (g (o0 0018 ylaial 4o LT 1 yieS 45 Wi (Y Igm aloz>
bly (oo aten L]
] 00 Sl Al po b 3 w3l o 0010 wigT 8 s wsl lasyl o
i JuSis als o b 3B wo 31 asul,8 oyl &5 pusS 0 0Ll Gowe b Jow (] Overview o
QLA 1) (gadine Jo| o 0uls 0310 (6 diges 45 Ty 50 bol sl (o0 bl A9z g 5T 4igS
B (o0 Ty Wygeo ax 4 BT (IS Oyg0 4 aF @Sl b canas
w2310 oo T gndgi 41 9 @S (o0 sl BOdy g0 &) L3181 Jol o
4) il Lo 5T s 45" ol o3 9 0,410 ¥ 855,15 s e 30 Jgtemo ybisLus 31 o0liusl
(dgu ax>10 Pre-lELTS (s 0935 10 Jotxmo W gt

Firstly, then, in the next stage, ) b Sequence Marker ;| iw ;o & dlegn Wb oxod
o bod oolaiiw! ol o SIS > (at last, meanwhile, etc.



o158 SYgu (5 Ligal

WRITING TASK 1

You should spend about 20 minutes on this task.

The diagram below shows how electricity is generated in a hydroelectric
power station.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

Hydroelectric power station

Dam

High-level
reservoir

Power station
| Power lines - National grid

Intake (Day: open,
Night: closed)

Low-level
reservoir

Reversible turbines
Day: operate generator
Night: pump water into

high-level reservoir
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The generation of electrical power in a water-based station is shown in the
illustration.

Looked at it from an overall perspective, it is shown that the station works back
and forth in a cycle using the river water both at night and in the daytime, and
the principal work of producing electricity is done by the reversible turbines in
the power station.

At the beginning of the day, the exit beneath the dam is opened and this lets
the water enter the pipes which are attached to the turbines below the power
station. The turbines start to rotate and as a result of this procedure, the
generator produces electricity which will be transmitted to the National Grid via
power lines, in order to be consumed by the customers.

However, at night the amount of water which has been stored in the low-level
reservoir is directed to its initial level so that it can be reused for the following
day.

Word Count: 159
ol odls dlgl ) Clow diged ol i (0 45 b loa
D93 0d 0315 o & Jlgw y0 a5 (ol abos 19,530 : Introduction
G Oy adg 53 (o el LW 9 99> 90 wialyd 5 il 9 39, 5 90 4 o,Lil : Overview
(395 w93) Jsl 38 o)y : Body 1

(w JJQ)) 'ogé}l.é Gm)).g:BOdyz



Jol s Jlpa | i Ol

5850w Sledl bl 1 U 39 0 diwlgs cdbgls I Jl e | Soud 4o
S g 1y 5l 4ol «(Three Bullet points)
a4 L doli cguo (] 31 aubly ooy ased 9 Glojlu SO b 4 buod ciawgd 4y Ollas Wilgi oo 4ol
Ng o0 pundd (INfOrmal) ouw ) jué 9 (Formal) oouw; cdls g0
Cger 4olS Yor G110+ 030 40 gl 4ol oyiivgl Yaoro g a0 0319 18+ lolS dlaws Jslus
S (g0 CliS ge yolay o diuslyS Sl j by
] ool oSl ol s a1 Sl albei LS Oy

« Statement of purpose: 55,5 o Ly alos 90 b Ygoxo a5 ol oyl cyiligs 51 b Bun

* Situational details: il o oui sols o cis gy gy wlw! p a5 Sl 3 ol

« Statement of request: Jols 1) pgw cou g cdgr Yaomo a5 aol sl jo b canlgs 4o e

20,5 o

Ogod padlgs oy |y ooyl 9 (o) (G diged 9O dnldl 4o



P9 o JI 2 | S OIS

bl (oo gy JSD 4 Jlpe ) Send g SO yledis L

You have tickets for a sports event but won't be able to

Write a letter to a friend offering them the tickets. In

Background
info attend.
Instruction {
words your letter, include:
» how you got the tickets

Letter ’

:  whyyou can’t attend
details

Formal English

-does not make use of contractions (i.e.

can’'t, won't, haven't)

-avoids colloquialisms and never uses
slang

-taps into more complicated lexical re-
sources and wording styles

-uses passive sentence constructions,
making it more professional and less
personal

* why you think your friend will enjoy the event
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Informal English
-permits the use of contractions

-delivers a message in a personal tone
and often uses colloquialisms to do so

-uses contextually accurate lexical
resources but does not need to deliver
these in an overly complicated man-
ner

-uses more active sentence construc-
tions
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Write a letter to a company asking for a refund for something
you bought from them online. In your letter include:

« what you bought
« what the problem is

e why you want a refund
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Dear Sir/Madam

I am writing this letter in order to express my request which is to refund a recent
online purchase | have made from your company. Allow me to elaborate on exactly
why | would like this course of action to be realized.

| bought an all-in-one computer system from your website a couple of days ago. At
first, it appeared to be the ideal model | had been hoping for. However, only after
two days, the device started to crash. The very first action | took was to call your
company and ask for help. After almost one hour of online troubleshooting, your
team came to the conclusion that the device needs to be replaced.

Since the chosen all-in-one was the highest model available in your store and there
is no other one which can keep up with that model, | would like to return this item
to you for a refund. From your guarantee card, | assume that if | send it back within
30 days of the purchase date, | can expect to have my account credited for the full
purchase price.

Gratefully yours,
Reza Mohammadi

Word Count: 190
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You are travelling and need someone to do you a favour while
you are gone. Write a letter asking a neighbour or friend for
help. In your letter include:

» where you are going
e what the favour is

» why you need this friend to help
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Dear James

| hope this letter finds you in good health. | wanted to see if | could ask a
favor. Let me explain what has exactly made me write this letter to you.

As a matter of fact, my family and | have planned for a trip to Italy. It’s been
years we had been saving up in order to be able to afford such a journey. So
we don’t want anything ruin this experience. There are a range of things which
need to be taken into account while we are away, such as watering the plants,
making sure that the water pipes are working properly and not leaking,
feeding the fishes in our aquarium, etc. So, | was hoping you wouldn’t mind
taking care of all these stuff.

| know it might be a little over the top, but you know | have no one else to
whom | can trust. | would absolutely be grateful if you could do me such a
favor.

Thanking you kindly,
Reza Mohammadi

Word Count: 171



